S1

4,7-Dimethoxy-1,10-Phenanthroline: An
Excellent Ligand for the Cu-Catalyzed N-Arylation
of Imidazoles

Ryan A. Altman and Stephen L. Buchwald*

Department of Chemistry
Massachusetts Institute of Technology
Cambridge, MA 02139

sbuchwal @mit.edu

Supporting Information

Table of Contents:
General Considerations S2
Synthesis of 4,7-dimethoxy-1,10-phenanthroline S3
Experimental procedures for the N-arylation of imidazole with aryl iodides S7
Experimental procedures for the N-arylation of imidazole with aryl bromides S13
NMR Data S18

References S32



S2

General Considerations.

All reactions were carried out in resealable test tubes with teflon septa and run under a
dry argon or nitrogen atmosphere. Copper (I) oxide (97%) was purchased from Aldrich
company as a red powder. Anhydrous Cs;COj3 (99.9%) was purchased from Alfa Aesar; the bulk
of the material was stored under nitrogen in a Vacuum Atmospheres glovebox. Small portions
(~5 g) were removed from the glovebox in glass vials, stored in the air in a desiccator filled with
anhydrous calcium sulfate, and weighed in the air. Poly(ethylene glycol) (M, 3,400) was
purchased from Aldrich. Generally, aryl halides and imidazoles were purchased from
commercial sources and used without further purification. When necessary, aryl halides were
filtered through neutral alumina, or distilled. Butyronitrile (> 99 %) was purchased from Aldrich
and used without further purification. Anhydrous solvents were purchased from Aldrich in Sure-
Seal ® bottles. Flash column chromatography was performed with EM Science silica gel 60
(230-400 mesh). In all cases, dichloromethane was used to transfer the crude reaction material
onto a silica gel column. A gradient elution technique was used for column chromatography,
beginning with hexane and continuing to the specified concentration of ethyl acetate in hexane.

Yields reported in the publication are isolated (except where noted) and represent an
average of at least two independent runs. Yields reported in the supporting information refer to a
single experiment. Compounds described in the literature were characterized by comparing their
"H NMR, and melting point (m.p.) to the previously reported data; their purity was confirmed by
gas chromatographic analyses (GC). For known compounds prepared using the new method

(conditions) described, a copy of the "H NMR spectrum, of each, is included. GC analyses were



S3

performed on a Hewlett Packard 6890 instrument with an FID detector and a Hewlett Packard 10
m x 0.2 mm i.d. HP-1 capillary column using dodecane as an internal standard. Previously
unknown compounds were synthesized, purified and analyzed from a single run and were then
repeated to determine an average yield. They were characterized by 'H NMR, °C NMR, m.p.,
and elemental analysis. Elemental analyses were performed by Atlantic Microlabs, Inc.,
Norcross, GA. For those compounds that did not give a satisfactory elemental analysis, a copy
of their "H NMR spectrum is included. 'H NMR and *C NMR were recorded on Varian 300
MHz and 500 MHz instruments with chemical shifts reported relative to the deuterated solvent or
TMS. IR spectra were recorded on a Perkin-Elmer System 2000 FT-IR instrument for all
previously unknown compounds (KBr disc). Melting points (uncorrected) were obtained on a

Mel-Temp II capillary melting point apparatus.

Synthesis of 4,7-dimethoxy-1,10-phenanthroline (L).
The synthesis of L was adapted from literature precedent.' A larger scale preparation of L can
be preformed as follows. Alternatively, 2 can be purchased in gram quantities from commercial

Sources.



S4

Scheme 1. Synthesis of 4,7-Dimethoxy-1,10-Phenanthroline

O>§Me
(0] o} OH
Y gy 4
950 1100°C 2h NH 5 Ph30
Me  Me NH - . HO N
2) o-Phenylenediamine | 260 °C, 30 min, 86 % |
100°C,1h77 % o Y =N
HC(OM
( e)3 OXO ] 2
Me Me
POCls,
Reflux, 2 hr
OMe Cl
A A
NaOMe
MeO N/ Cl N/
| MeOH, 65 °C, 24 h |
2N 74 % Over 2 Steps =N

3
1,2-Bis-[(2,2-dimethyl-4,6-dioxo0-1,3-dioxan-5-ylidenemethyl)amino]benzene (1).
An oven-dried 2 L 2-neck flask equipped with a mechanical stirrer was charged with trimethyl
orthoformate (850 mL, 7.8 mol) and Meldrum’s acid (101 g, 0.700 mmol). The flask was fitted
with a reflux condenser; the contents were flushed with N, and brought to a gentle reflux for 2 h.
The resulting red solution was cooled (~ 80 °C) and phenylene diamine (32.4 g, 300 mmol) was
added portionwise (exothermic reaction) resulting in the formation of a yellow solid. The
mixture was heated to reflux, stirred vigorously for an additional hour and then cooled to room
temperature. The resulting solid was filtered, washed with cold acetone (slightly soluble) and
dried to afforded 95 g (77%) of product as a flaky light-yellow solid. 'H NMR (CDCls, 400
MHz) 8 11.34 (br d, 2H), 8.50 (d, 2H), 7.41 (m, 4H, all ArH), 1.74 (s, 12H, Me). m.p. 208-210,

decomp. (Lit. 209, decomp.).**

4,7-Dihydroxy-1,10-phenanthroline (2). A 5 L 3-neck flask equipped with a mechanical stirrer
and a large air-cooled reflux condensor was charged with 3 L of diphenyl ether and was heated

to 240 °C using a heating mantle. During the addition of 1, the flask was open to atmospheric



S5

pressure under a stream of N,. Precursor 1 was added in small portions resulting in vigorous gas
evolution (Caution). When the addition was complete, the mixture was brought to reflux (260
'C) for 30 min. The mixture was allowed to cool to 80 °C, and the precipitate was isolated by
vacuum filtration and washed with acetone until the filtrate was colorless. The product was
further washed with excess hexane and diethyl ether. Drying by vacuum filtration, then under
hi-vac at 60 °C, afforded 41.5 g (86%) of a fine dark-brown powder. Although the title
compound was essentially insoluble in common NMR solvents, a spectrum could be obtained
using NaOH in D,O. 'H NMR (D,0, NaOH, 400 MHz) & 8.17 (d, 2H, J = 5.6 Hz), 7.75 (s, 2H),
6.43 (d, 2H J = 5.6 Hz). Anal Calc. for C;,HgN>: C 67.92, H 3.80. Found: C 67.60, H 3.59.

m.p. stable up to 250 °C (Lit. 471-474, decomp.).”

4,7-Dichloro-1,10-phenanthroline (3). A 1 L 2-neck round bottom flask equipped with a stir
bar, reflux condenser, and distillation apparatus was flame-dried and allowed to cool under an
atmosphere of N,. Phosphorous oxychloride (400 mL) and 2 (20.0 g, 94.3 mmol) were added to
the flask under a N, purge. The apparatus was immersed in an oil bath and heated at reflux for 2
h (the condenser for the distillation apparatus was not filled with water at this time). After this
period, the circulation of water for the distillation apparatus was turned on and roughly half of
the excess phosphorous oxychloride was removed by gentle vacuum distillation. The solution
was cooled to room temperature and crushed ice was slowly added to the reaction mixture
(Caution: very exothermic!) while keeping the temperature between 10 and 30 °C with an ice
bath. When HCI gas evolution ceased, the acidic solution was stirred for one hour at room
temperature to dissolve the black solids that formed. The resulting dark cloudy solution was

filtered through activated charcoal (Darco®) to give a translucent-beige solution, which was



S6

brought to pH 13 by the slow addition of 20% KOH solution while maintaining the temperature
below 25 °C. The white precipitate that formed was collected by suction filtration, washed with
excess HyO, and dried under vacuum overnight at 60 °C affording 3 as a white solid. The
product was used in the subsequent step without further purification. 'H NMR (DMSO, 400
MHz) 6 9.09 (d, 2H, J = 4.8 Hz), 8.41 (s, 2H), 8.08 (d, 2H, J = 4.8 Hz). m.p. 245-247 (Lit. 249-

250).%¢

4,7-Dimethoxy-1,10-phenanthroline (L). An oven-dried 3-neck round bottom flask was cooled
under a stream of nitrogen. Anhydrous methanol (1.2 L) was added, and purged with N, for 10
min. Sodium metal (9.20 g, 400 mmol) was slowly added in small pieces while the solution was
stirred. A reflux condenser was attached, and 3 (all that was produced in the previous step) was
added. The flask was heated to reflux for 24 hours under an atmosphere of N,. Concentration of
the resulting solution to ~30 mL and addition of cold water (250 mL) resulted in the precipitation
of a tan solid. The flask was stored overnight in a refrigerator to allow complete precipitation of
the solid. The product was collected by filtration, washed with excess water, and dried under
vacuum overnight at 60 °C affording 16.7 g (74 % over 2 steps) of a tan solid, which can be
recrystallized from benzene. "H NMR (CDCls, 300 MHz) 6 8.93 (d, 2H, J = 5.3 Hz), 8.18 (s,

2H), 7.03 (d, 2H, J = 5.3 Hz), 4.09 (s, 6H). m.p. 210-212 (Lit. 209-210).%

General procedure for the N-arylation of imidazoles with aryl iodides.

An oven-dried screw-cap test tube was charged with Cu,O (0.025 mmol), L (0.075 mmol),
imidazole (1.2 mmol), aryl iodide (1.00 mmol, if solid), poly(ethylene glycol) (200 mg), Cs,CO,
(1.4 mmol), and a magnetic stir bar. The reaction vessel was fitted with a rubber septum. The

vessel was evacuated and back-filled with argon or nitrogen, and this sequence was repeated an



S7

additional time. Aryl iodide (1.00 mmol, if liquid) and solvent (0.5 mL) were then added
successively. The reaction tube was sealed, and stirred in a pre-heated oil bath for the designated
time period. The reaction mixture was cooled to room temperature, diluted with dichloromethane
(10 mL), and filtered through a plug of celite, eluting with additional dichloromethane (50 mL). The
filtrate was concentrated and the resulting residue was purified by flash chromatography to provide

the desired product.

Experimental procedures for the N-arylation of imidazole with aryl iodides.

N/\:\N\Q

N

1-Phenyl-1H-imidazole

The general procedure was followed using Cu,O (3.6 mg, 0.025 mmol), L. (18 mg, 0.075 mmol),
PEG (200 mg), Cs,CO; (0.45 g, 1.4 mmol), iodobenzene (112 uL, 1.00 mmol), and imidazole (82
mg, 1.2 mmol), with NMP (0.5 mL) as solvent for 3 h at 110 °C. Chromatographic purification
(hexane / ethyl acetate 1 : 3) afforded 1-phenyl-1H-imidazole (slightly yellow oil, 131 mg, 92 %).

The low catalyst loading experiment was preformed using the general procedure with Cu,O (0.4
mg, 0.0025 mmol), L. (1.8 mg, 0.0075 mmol), PEG (2.0 g), Cs,CO; (4.50 g, 14 mmol),

iodobenzene (1.12 mL, 10 mmol), and imidazole (820 mg, 12 mmol), in butyronitrile (2.0 mL) as

solvent for 48 h at 110 °C. Chromatographic purification (hexane / ethyl acetate 1 : 3) provided 1-
phenyl-1H-imidazole (slightly yellow oil, 1.34 g, 93 %). '"H NMR (300 MHz, CDCl,) § 7.82 (s,
1H), 7.47-7.41 (m, 2H), 7.36-7.29 (m, 3H), 7.25 (bs, 1H), 7.18 (bs, 1H).> A copy of the 'H NMR

spectrum is provided.



3-Imidazol-1-yl-benzonitrile
The general procedure was followed using Cu,O (3.6 mg, 0.025 mmol), L. (18 mg, 0.075 mmol),
PEG (200 mg), Cs,CO, (0.45 g, 1.4 mmol), 3-iodobenzonitrile (229 mg, 1.00 mmol), and imidazole

(82 mg, 1.2 mmol), with butyronitrile (0.5 mL) as solvent for 24 h at 90 °C. Chromatographic
purification (hexane / ethyl acetate 1 : 3) 3-imidazol-1-yl-benzonitrile (white needles, 158 mg, 94
%). '"H NMR (500 MHz, CDCI,) & 7.89 (s, 1H), 7.71-7.60 (m, 4H), 7.30 (bs, 1H), 7.25 (bs, 1H).

m.p. 151-154 °C (Lit. 156-157 °C).* A copy of the '"H NMR spectrum is provided.

1-(3-Nitro-phenyl)-1H-imidazole
The general procedure was followed using Cu,O (3.6 mg, 0.025 mmol), L. (18 mg, 0.075 mmol),
PEG (200 mg), Cs,CO, (0.45 g, 1.4 mmol), 3-nitroiodobenzene (249 mg, 1.00 mmol), and

imidazole (83 mg, 1.2 mmol) with acetonitrile (0.5 mL) as solvent for 29 h at 80 °C.
Chromatographic purification (hexane / ethyl acetate 1 : 3) 1-(3-nitro-phenyl)-1H-imidazole (white
solid, 177 mg, 93 %). '"H NMR (500 MHz, CDCI3) § 8.25 (t, 1H, J = 1.9), 8.19 (ddd, 1H, J = 1.1,
1.9, 7.9 Hz), 7.94 (s, 1H), 7.75 (ddd, 1H, J = 1.4, 2.2, 8.1 Hz), 7.69 (t, 1H, J = 8.0 Hz), 7.36 (s,

1H), 7.23 (s, 1H). C NMR (100 MHz, CDCL,) & 149.1, 138.3, 125.5, 131.5, 131.2, 126.9, 122.1,

118.0, 116.2. m.p. 109-110 °C (Lit. 109-110 °C).> A copy of the "H NMR spectrum is provided.

/—\

NN \©\
CO,Et



S9

4-Imidazol-1-yl-benzoic acid ethyl ester

The general procedure was followed using Cu,O (3.6 mg, 0.025 mmol), L. (18 mg, 0.075 mmol),
PEG (200 mg), Cs,CO; (0.45 g, 1.4 mmol), ethyl-4-iodobenzoate (168 uL, 1.00 mmol), and
imidazole (82 mg, 1.2 mmol), 3 A molecular sieves (200 mg, powdered, flame activated) with
acetonitrile (0.5 mL) as solvent for 23 h at 80 °C. Chromatographic purification (hexane / ethyl
acetate 1 : 3) 4-imidazol-1-yl-benzoic acid ethyl ester (white crystals, 184 mg, 84 %). 'H NMR
(500 MHz, CDCl,) 6 8.18 (td, 2H, J = 1.8, 8.5 Hz), 7.96 (s, 1H), 7.48 (td, 2H, J = 1.8, 8.8), 7.37 (s,
1H), 7.26 (s, 1H), 4.43 (q, 2H, J = 7.1 Hz), 1.44 (t, 3H, J = 7.0 Hz). m.p. 101-103 °C (Lit. 100-

102 °C).% A copy of the '"H NMR spectrum is provided.

1-(4-Bromo-phenyl)-1H-imidazole’

The general procedure was followed using Cu,O (3.6 mg, 0.025 mmol), L. (18 mg, 0.075 mmol),
PEG (200 mg), Cs,CO; (0.45 g, 1.4 mmol), 1-bromo-4-iodobenzene (340 mg, 1.20 mmol), and
imidazole (68 mg, 1.0 mmol) with butyronitrile (0.5 mL) as solvent for 24 h at 90 °C.
Chromatographic purification (hexane / ethyl acetate 1 : 1) provided 1-(4-bromo-phenyl)-1H-
imidazole (white crystals, 171 mg, 78 %). '"H NMR (300 MHz, CDCl,) & 7.83 (bs, 1H), 7.63 (m,
2H), 7.32-7.20 (m, 4H). m.p. 120-122 °C. GC/MS of the crude material showed an 6.1 : 1
mixture of 1-(4-bromo-phenyl)-1H-imidazole to 1-(4-iodo-phenyl)-1H-imidazole. A copy of the

"H NMR spectrum is provided.



S10

1-(3,5-Dichloro-phenyl)-2-methyl-1H-imidazole
The general procedure was followed using Cu,O (7.2 mg, 0.05 mmol), L. (36 mg, 0.15 mmol), PEG
(200 mg), Cs,CO; (0.45 g, 1.4 mmol), 1,3-dichloro-5-iodobenzene (273 mg, 1.00 mmol), 2-

methylimidazole (100 mg, 1.2 mmol) with butyronitrile (0.5 mL) as solvent for 24 h at 110 °C.
Chromatographic purification (hexane / ethyl acetate 1 : 3) provided 1-(3,5-dichloro-phenyl)-2-
methyl-1H-imidazole (white needles, 194 mg, 86 %). '"H NMR (300 MHz, CDCL,) § 7.44 (t, 1H,
J=1.8),7.23(d,2H,J = 1.9),7.05 (d, 1H, J = 1.2), 6.99, (d, 1H, J = 1.2), 2.40 (s, 3H). °C NMR
(100 MHz, CDCl;) & 139.8, 135.8, 128.5, 128.4, 124.1, 14.0. IR (KBr disc, cm™") 1534, 1501,

1463, 1451, 1405, 1305, 1176, 1143, 1115, 1099, 985, 850, 781. Anal. Calc. for C,,HgN,Cl,: C
52.89,H 3.55. Found: C 52.95, H 3.44. m.p. 122-125 °C.

1-(2-Isopropyl-phenyl)-1H-imidazole
The general procedure was followed using Cu,O (3.6 mg, 0.025 mmol), L. (18 mg, 0.075 mmol),
PEG (200 mg), Cs,CO; (0.45 g, 1.4 mmol), 2-isopropyl iodobenzene (246 mg, 1.00 mmol), and

imidazole (82 mg, 1.2 mmol) with butyronitrile (0.5 mL) as solvent for 48 h at 110 °C.
Chromatographic purification (hexane / ethyl acetate 1 : 1) provided 1-(2-isopropyl-phenyl)-1H-
imidazole (white crystals, 171 mg, 92 %). 'H NMR (300 MHz, CDCl,) § 7.57 (bs, 1H), 7.46-7.42
(m, 2H), 7.31-7.11 (m, 3H), 7.05 (m, bs), 2.74 (heptet, 1H, J = 6.9 Hz), 1.16 (d, 6H, J = 6.9 Hz).
*C NMR (100 MHz, CDCL,) § 145.0, 135.1, 129.4, 129.2, 127.0, 126.7, 126.4, 121.1, 27.4, 24.0.
m.p. 76-77 °C (Lit. 67-68 °C).®  Anal. Calc. for C,,H,,N,: C 77.38, H 7.58. Found: C 77.42, H

7.78. A copy of the "H NMR spectrum is provided.



S11

(2-Imidazol-1-yl-phenyl)-methanol
The general procedure was followed using Cu,O (3.6 mg, 0.025 mmol), L. (18 mg, 0.075 mmol),
PEG (200 mg), Cs,CO; (0.45 g, 1.4 mmol), 2-iodobenzylalcohol (234 mg, 1.00 mmol), and

imidazole (82 mg, 1.2 mmol) with butyronitrile (0.3 mL) as solvent for 24 h at 110 °C.
Chromatographic purification (hexane / ethyl acetate 1 : 1) provided (2-imidazol-1-yl-phenyl)-
methanol (clear crystals, 165 mg, 95 %). 'H NMR (300 MHz, CDCl,) § 7.62 (dd, 2H, J = 1.7,7.6
Hz), 7.45 (td, 1H, J = 1.4,7.5 Hz ), 7.38 (td, 1H, J = 1.4,7.4 Hz), 7.23 (dd, 1H, J = 1.1, 7.7 Hz),
7.13 (s, 1H), 7.08 (s, 1H), 4.90 (bs, 1H), 4.46 (s, 1H). m.p. 102-104 °C (Lit. 100.5-102.5 °C).° A

copy of the "H NMR spectrum is provided.

1-Biphenyl-2-yl-1H-imidazole

The general procedure was followed using Cu,O (7.2 mg, 0.05 mmol), L. (36 mg, 0.15 mmol), PEG
(200 mg), Cs,CO; (0.45 g, 1.4 mmol), 2-iodobiphenyl (176 uL, 1.00 mmol), and imidazole (82 mg,
1.2 mmol) with butyronitrile (0.6 mL) as solvent for 72 h at 120 °C. Chromatographic purification
(hexane / ethyl acetate 1 : 1) provided 1-biphenyl-2-yl-1H-imidazole (slighly yellow crystals, 179
mg, 81 %). 'H NMR (300 MHz, CDCl,) § 7.50-7.33 (m, 5H), 7.30-7.24 (m, 3H), 7.02 (bs, 1H),
6.82 (bs, 1H). °C NMR (100 MHz, CDCl,) § 137.8, 137.5, 135.2, 131.5, 128.7, 128.7, 128.6,

128.3, 127.8, 126.3. Anal. Calc. for C,sH,,N,: C 81.79, H 5.49. Found: C 81.50, H 5.46. m.p.
93-95 °C.



S12

~ ()
e
1-Naphthalen-1-yl-1H-imidazole
The general procedure was followed using Cu,O (7.2 mg, 0.05 mmol), L. (36 mg, 0.15 mmol), PEG
(200 mg), Cs,CO; (0.45 g, 1.4 mmol), 1-iodonaphthalene (146 uL, 1.00 mmol), and imidazole (82

mg, 1.2 mmol) with NMP (0.3 mL) as solvent for 24 h at 110 °C. The crude reaction mixture was
dissolved in 20 mL of water, and extracted with dichloromethane (5 x 30 mL). The combined

organic layers were dried with MgSQO,, and the solvent was removed in vacuo. Chromatographic
purification (hexane / ethyl acetate 1 : 1) provided 1-naphthalen-1-yl-1H-imidazole (yellow-white

solid, 179 mg, 92 %). '"H NMR (300 MHz, CDCl,;) 8 7.94-7.92 (m, 2H), 7.76, (bs, 1H), 7.61-7.48
(m, 4 H), 7.43 (d, 1H, J = 7.0 Hz), 7.30 (bs, 1H), 7.25 (bs, 1H). m.p. 63-64 °C (Lit. 62 °C)."* A

copy of the "H NMR spectrum is provided.

N/\:\N\Q\
1-(4-Fluoro-phenyl)-2-phenyl-1H-imidazole
The general procedure was followed using Cu,O (3.6 mg, 0.025 mmol), L. (18 mg, 0.075 mmol),

PEG (200 mg), Cs,CO, (0.45 g, 1.4 mmol), 4-fluoroiodobenzene (222 mg, 1.00 mmol), 2-

phenylimidazole (173 mg, 1.2 mmol) with butyronitrile (0.3 mL) as solvent for 24 h at 110 °C.
Chromatographic purification (hexane / ethyl acetate 3 : 1) provided 1-(4-fluoro-phenyl)-2-phenyl-
1 H-imidazole (white solid, 211 mg, 89 %). 'H NMR (300 MHz, CDCL,) § 7.36-7.30 (m, 2H),
7.24-7.16 (m, 4H), 7.15-7.09 (m, 2H), 7.06 (s, 1H), 7.03-6.96 (m, 2H). >C NMR (100 MHz,
CDCl,) 6 163.5,160.2, 134.5, 129.0, 128.5, 128.4, 128.2, 127.6, 127.5, 116.5, 116.2. 1R (KBr disc,

cm’™') 1509, 1501, 1466, 1414, 1303, 1285, 1233, 1212, 1151, 1128, 1091, 1068, 970, 915, 840, 775,



S13

747,715, 697. Anal. Calc. for C;sH, N,F: C 75.62, H 4.65. Found: C 75.39, H 4.62. m.p. 111-
114 °C.

General procedure for the N-arylation of imidazoles with aryl bromides.

An oven-dried screw-cap test tube was charged with Cu,O (0.05 mmol), L. (0.15 mmol), imidazole
(1.2 mmol), aryl bromide (1.00 mmol, if solid), poly(ethylene glycol) (200 mg), Cs,CO, (1.4
mmol), and a magnetic stir bar. The reaction vessel was fitted with a rubber septum. The vessel
was evacuated and back-filled with argon or nitrogen, and this sequence was repeated an additional
time. Aryl bromide (1.00 mmol, if liquid), and solvent (0.5 mL) were then added successively. The
reaction tube was sealed, immersed, and stirred in a preheated oil bath for the designated time
period. The reaction mixture was cooled to room temperature, diluted with dichloromethane (10
mL), filtered through a plug of celite, and eluted with additional dichloromethane (50 mL). The
filtrate was concentrated and the resulting residue was purified by flash chromatography to provide

the desired product.

Experimental procedures for the N-arylation of imidazole with aryl bromides.

4-Imidazol-1-yl-phenol

The general procedure was followed using Cu,O (7.2 mg, 0. 05 mmol), L (36 mg, 0.15 mmol),
PEG (400 mg), Cs,CO; (1.0 g, 3.0 mmol), 4-bromophenol (172 mg, 1.00 mmol), and imidazole (82
mg, 1.2 mmol) with butyronitrile (0.5 mL) as solvent for 15 h at 110 °C. After cooling to ambient

temperature, the crude reaction mixture was dissolved in 20 mL 2M HCI,,,, and washed once with

(aq)?

diethyl ether. The aqueous layer was brought to pH 8 with Na,CO,, and extracted repeatedly with

CH,Cl,. The combined organic layers were dried with anhydrous MgSO,, and concentrated.



S14

Chromatographic purification (1 % ethanol in ethyl acetate, dry pack) afforded 4-imidazol-1-yl-
phenol (white crystals, 198 mg, 90 %). 'H NMR (300 MHz, CD,0D) § 7.95 (bs, 1H), 7.41 (bs,
1H), 7.35-7.30 (m, 2H), 7.01 (bs, 1H), 6.92-6.87 (m, 2H). "*C NMR (100 MHz, CDCl,) § 158.7,

130.8, 129.8, 124.3, 117.4, 24.0. m.p. 196-198 °C (Lit. 188-190°C [203-205 °C MeOH, H,0])."

A copy of the 'TH NMR spectrum is provided.

3-Imidazol-1-yl-phenylamine

The general procedure was followed using Cu,O (7.2 mg, 0.05 mmol), L. (36 mg, 0.15 mmol), PEG
(200 mg), Cs,CO; (0.45 g, 1.4 mmol), 3-bromoaniline (109 uL, 1.00 mmol), and imidazole (82 mg,
1.2 mmol) with butyronitrile (0.25 mL) as solvent for 20 h at 110 °C. Chromatographic
purification (ethyl acetate) afforded 3-imidazol-1-yl-phenylamine (white powder, 141 mg, 88 %).
'H NMR (300 MHz, CDCl3) 8 7.79 (bs, 1H), 7.21-7.15 (m, 3H), 6.72-6.68 (m, 1H), 6.64-6.60
(m, 2H). 4.01 (bs, 2H). “C NMR (100 MHz, CDCl;) & 148.2, 138.4, 135.6, 130.7, 130.1, 118.4,
114.0, 111.1, 107.7. m.p. 112-114 °C (Lit. 111-113 °C)."” A copy of the 'H NMR spectrum is

provided.

1-(4-Imidazol-1-yl-phenyl)-ethanone
The general procedure was followed using Cu,O (7.2 mg, 0.05 mmol), L. (36 mg, 0.15 mmol), PEG
(200 mg), Cs,CO, (0.45 g, 1.4 mmol), 4-bromoacetophenone (199 mg, 1.00 mmol), and imidazole

(82 mg, 1.2 mmol) with butyronitrile (0.4 mL) as solvent for 48 h at 110 °C. Chromatographic



S15

purification (hexane / ethyl acetate 1 : 3) afforded 1-(4-imidazol-1-yl-phenyl)-ethanone (white
solid, 159 mg, 86 %). '"H NMR (300 MHz, CDCl,) & 8.04, (m, 2H), 7.92 (bs, 1H), 7.46 (m, 2H),
7.33 (bs, 1H), 7.19 (bs, 1H), 2.59 (s, 3H). "“C NMR (100 MHz, CDCl;) § 196.6, 140.7, 135.7,
135.4, 131.2, 130.4, 120.7, 117.8, 26.7. m.p. 112-114 °C (Lit. 110-112 °C)."® A copy of the 'H

NMR spectrum is provided.

1,4-bis(Imidazol-1-yl)-benzene14

The general procedure was followed using Cu,O (7.2 mg, 0.05 mmol), L. (36 mg, 0.15 mmol),
Cs,CO; (0.90 g, 2.8 mmol), 1,4-dibromobenzene (236 mg, 1.00 mmol), and imidazole (164 mg, 2.4
mmol) with NMP (0.5 mL) as solvent for 30 h at 110 °C. The crude reaction mixture was diluted

in excess CH,Cl,, and filtered through a celite plug. After removal of the solvent in vacuo, the

product was crystallized from EtOAc and stored in a freezer overnight, to afford 1,4-bis(imidazol-
1-yl)-benzene (white solid, 200 mg, 95 %). '"H NMR (500 MHz, CDCl,) & 7.90 (bs, 2H), 7.54 (s,

4H), 7.32 (bs, 1H), 7.26 (bs, 1H). m.p. 190 °C (decomp.). IR (KBr disc, cm™) 1534, 1485, 1304,

1248, 1105, 1059. Anal Calc. for C,,H,,N,: C 68.56, H 4.79. Found C 68.49, H 4.90.

N/\_\N\©

¢

1,2-Diphenyl-1H-imidazole

The general procedure was followed using Cu,O (14.4 mg, 0.10 mmol), L. (72 mg, 0.30 mmol),
PEG (200 mg), Cs,CO; (0.45 g, 1.4 mmol), 4-t-butylbromobenzene (173 uL, 1.00 mmol), and

imidazole (82 mg, 1.2 mmol) with butyronitrile (0.6 mL) as solvent for 72 h at 120 °C.



S16

Chromatographic purification (hexane / ethyl acetate 1 : 1) afforded 1,2-diphenyl-1H-imidazole
(white crystals, 198 mg, 90 %). 'H NMR (300 MHz, CDCl,) § 7.42-7.32 (m, 5H), 7.28-7.16 (m,
6H), 7.14 (d, 1H, J = 1.1 Hz). "C NMR (100 MHz, CDCL,) § 138.6, 130.4, 129.5, 129.1, 128.6,
128.4,128.2,128.2,125.9, 123.0. m.p. 88-89 °C (Lit. 90 °C)."® A copy of the '"H NMR spectrum

is provided.

N/;\N\@

Me '‘Bu

1-(4-tert-Butyl-phenyl)-2-methyl-1H-imidazole

The general procedure was followed using Cu,O (7.2 mg, 0.05 mmol), L. (36 mg, 0.15 mmol), PEG
(200 mg), Cs,CO; (0.45 g, 1.4 mmol), 4-t-butylbromobenzene (173 ulL, 1.00 mmol), 2-
methylimidazole (100 mg, 1.2 mmol) with butyronitrile (0.25 mL) as solvent for 48 h at 110 °C.
Chromatographic purification (hexane / ethyl acetate 1 : 3) afforded 1-(4-tert-butyl-phenyl)-2-
methyl-1H-imidazole (yellow oil, 207 mg, 97 %). 'H NMR (300 MHz, CDCl;) § 7.41 (m, 2H),
7.12 (m, 1H), 6.94 (bs, 1H), 6.91 (bs, 1H), 2.28 (s, 3H), 1.29 (s, 9H). "C NMR (100 MHz,
CDCl,) & 151.1, 135.3, 127.5, 126.3, 124.9, 12.7, 34.6, 31.3, 13.8. IR (KBr Disc, cm ') 2962,
2870, 1608, 1579, 1513, 1463, 1419, 1365, 1302, 1269, 1178, 1139, 1114, 996, 986, 842, 730, 674,

571. A copy of the "'H NMR spectrum is provided.

1-ortho-Tolyl-1H-imidazole
The general procedure was followed using Cu,O (7.2 mg, 0.05 mmol), L. (36 mg, 0.15 mmol), PEG

(200 mg), Cs,CO, (0.45 g, 1.4 mmol), 2-bromotoluene (120 uL, 1.00 mmol), and imidazole (82



S17

mg, 1.2 mmol) with butyronitrile (0.3 mL) as solvent for 28 h at 110 °C. Chromatographic

purification (hexane / ethyl acetate 1 : 1) afforded 1-ortho-tolyl-1H-imidazole (yellow oil, 140
mg, 89 %). 'H NMR (300 MHz, CDCl;) 8 7.59 (bs, 1H), 7.37-7.28 (m, 3H), 7.23-7.20 (m, 2H),
7.06 (bs, 1H), 2.19 (s, 3H). "C NMR (100 MHz, CDCl,) & 148.2, 138.4, 135.6, 130.7, 130.1,

118.4,114.0, 111.1, 107.7."® A copy of the '"H NMR spectrum is provided.



S18

E L | by
e Ll (TR
vl
wdd 0- 8 o1 21 eT a1
_ PRt
J
ye -
su}
43
dia
L3
=1
.ezy
™
i 3
4
da
d3
AvIdSIaQ
sy
dp
uj
u
S0¥14d
un vyl
) (1L 1200
dxom »
Jaam w
_ 01
—_ 3 yiry to
21078 u »d
L7 04 amdy
V oLLIA 91
A. .A DNISS2304d 85
V A T $3Jp o
| M J ns
< basp au
A\ soeut Jup 1w
2 wp w1
wu 4P SE2T 005 bays
] aon HOILLISINDAY
iy andn  dxa ks
3k up  £1203 WA 0%
SeL°521 bJp 5082 £ 13p o3up
1h % "230 31dHYsS
|hd2s  zdwa

S#313INVHVd NOLAOHd QUYONVLS



S19

b ER' 2

Li'oen’t
wdd 0- A 4 0T T tT 97
N T WU T WS ST TS PN a i — L Bt TCVUNNIN NI SRE —_— e e § - ——
_ G o —
'
|
|
|
|
|
'] yéd opa W
9£559 ooy sul
R ] 4 ul
0 dja
DNISS 0¥ R‘vo0l [P
Y] [Tax {1 51
[0 | 000l Ty
05 b
902 1] 2%
2 151 ih
" 81113 dx
° 8'vooi- ds
4 AY14SI0
i uu 3y
! [ A dp
| 6230 u wy
u u 11
1 et sS4
H pasn jou uyeb
a0z u Ao|v
_ ? 91 FT)
| u o1 w
| 0 r'sept Fi)
P T Q i
| z°% ~d
0 93 dndy
! 2030 o1 =9
H " pasn Jou u
| 0°r ©° 9666 ne
H 9E559 du
osoot H$T'e v
A {1 "
— 1 e {7111 LETH
1° 8601 NDILISTNDOY
! ve dxa oLl
[ &) €1202 juzALOs
! (T4 M-T44 $002 T 120 dew
' 1A ¥ "020 EAT L)
\a/ Indz2s  1dxe

SUILINVHUE HOLOBY QHUOWWIS



S20

A Le'tui'o
b BEZOAND

0- ¢ 3 9 e 0t z1 rT ST
M ™ N T -
i | w
1} 1
a bk
]
UM
S0M
dxam
PEL L)
] wew nd  3p3 W
2E558 u) q00°t sl
13 s04d ¢ u
I8N TUEESE a3
ONE5SS3008d o LESK L34
u EO90N  S6T9TR 51
[N E304D  Q0°0F wuzy
gvosp Q52 an
[ 002 cup g 23
| 3 gaup ST sA
| u EUp £ 966 dn
_ ] £JOp < p0OT- ds
I £2p AvudSIa
EUp  Lu sy
[} gbaup A dp
EDJ0 L Ul
u Zoaoy t
0t 2Eodp oY
IBasp  pasn om wpeh
002 zjup u A0oLe
2 eup g% 12
“ zup 91 Ju
0 ZJOP  TTREST i)
1 zimdp 0 w
A ]
0 28 9 3
/B 203 9t s
- u cmoe|  pasn oM as
[ ] 01 3PP G HEGE e
| j basp 9£659 du
P 00001 Jw  NZTE w
- » -y M uy
uw wooGrTeky bags
T RELT P ROLLLSINOV
b Jadp  dxy EIRT )
g €12 up  ELD0D 1aA103
\dhﬁv beat s ts.:u S00Z 02 AN 2J3en
in % 030 ERETT

Lndzs  gixo

SYILIUYVYYE NOL0Wd OEWINVIS



o

B e S

2z

€172

06’0 2171
Ztoa’z pe't

S21

oY 21 rT 91
NP NI BT ST R B s L T NIRRT W S S, i . .

¥

€558

L

. IMIS53000d

e'r

[ 114

2

-

°

'

0

£330

v

o't

ez

E]

u

[

1

°

230

o

L |

00001

n wpr TN "y

sy an - GrLesy Sy

t'eEpt 90 NOILISINOOW

vE amdp dxa o1y

E1D ¥n  ELDOD IUBag0y

[ 24 T4 bujpn SQ0Z 1 390 e

in ® "230 AVdNS

ndzs  rdxa

SUILINYEYY NDLOHD OYVONULS



S22

S

1
9£585
3

win

haioad
axan
209

Qi
u3
204d
aL3n

DNISSA0aYe

£ ® wmozuao o
o
o -

-

mwIuo o
-
o™

202120

® oS <

'3
P~

om0y
[¥-E¥II
gbasp

£3ap

9T

—

yd 3p> ww

ame’t sy
< u
T EESE L%}
9 LE5L 14
L5 EE 51
pa ov Ty
[ 134 M

032e w
1] uy
17 113 Bijs

HOILTSINOOY
Py es

~ZHE1-S082600 S0/ R0p
~/UdNQL&/LILRS 145

£1002 WIALQS

S002 L dag 2310p
AT

ndzs  2dxs

L9ZT]1vve



LT ]
00-s

wdd 0- 2 v

B

S23

D1

T

um
ELLY
dxom
Jiem

1 Hiva

€559 uJ

L El J04d

13N
IN1S5I0ES

om0y

£3530P

cbasp

Eiw

-
oo -

EJ3a

ot o ~o =\Jg ot o —~oftuo ot
v -
~
~To
- -
’ [
o

-
“w
-
[
o

oepm Jun
L

i ("3
T 88T 499
vE andp
ETD up
[TERE T4 bisp
a2 "330

97

g op W
0e0-9% Ul
& ul
T EE9E a51
67 LE9 152
56918 E1
e or -y
0sz M
'} 2%
151 A
8 8666 da
g peoi- ds

A¥1d510

uw sy
& dp
u us
u "

SN
nasa jou uyed
u EELINY
9t 2
91 w
17 86pt 0
0 i
2'e ~d
9% Jndy
gt %9
pasa jou a3
B B66E ns
9£589 du
LL27E kL
™ u
12 117 bass

WOILISINOIV
dxe LIgE)
190D JuALOS
5002 @Z nON LRl
IWdMYS
Lndzs  1dxe

TEILIUVYYSE NDLOUd OUVONVLS



S24

e'm-o
ae'wstorte

4 ) 6 o1 T 2T

™~ .

I

s

QM

dxas

7 FITEY

3 Yieu

zo ] uno.-n._ uo..““
Z ' CLLPR

A/ IN1553008d
u ooy
' 0 seap

\ﬁqﬁ.& .”I_: “mM .8:_0—8&«

£ Jndp  dxe a1y

1
up £1202 juonos
LI TaR T LiJp S99Z £ 33D e

in % "D30 3dNoS
1ndzs  2dxa

S¥ILINTHVE NOLOHd QHVONVES



S25

o1 L oot
EC'RY Loz 2
wdd 1- 0- T 2 € r S 9 2 ) 6 ot 17 2T

FENCI S T U S W SN Y-

. 0 .
i’
| i
f
|
_.
| _ ud  2p3 Wy
002°1 vl
oz 0
] 1T a5
8° 9682 134
i #0°005 i
507 6% wazy
| 52 n
' [ ] 2%
#DT sa
£°505b dn
25T ds
A TE
A £
'] vy
u L
FO¥14
P50 10U vivl
v PEIt
Fll 3
% i
0 0%
a0t e
RUT IR ~d
A bg ndy
dxgm 91 s
JidA  pasn ou aj
S 9050 "3
-— pasn jau d4J 0 pegLT cu
34 2040 SEET1 e
7 /ﬂr V4 sLIJIA T Y
\ ON15S130He 041-008 tays
— (13 Jan NOLLLSENOIY
a9 wap peyTavaLey
~ uu TR O LTI ST A TN
L\ 0 0P WS apSYINGgY S 330N
D 08 Jmdp ~/1aadK3/010pS St
~ 14 Jp EL20D Wha 08
~ DI 0DE biip L4028 owg  rEn
\ .ola e U030 IS

qIps 2k

VIR UvI- 2] -1 Uy Leiy



S26

6071

ve'e

e’z (LN 1870
s e oy

662°¢

th'E_/

-
—

S05°E

oISt
sig's

W

0% TE@' L

.

mae

‘-
G LH yd opa wu
2

Logmer W
> Be'eue d4a
= z've02 134
~ T RIS st
»6° 0T wzy
sz 2
0 23
1934 "
{°seee dn
..uv..»a...n_m q »
A 8 dp
u uy
u 1]
SV 4
POER JOU (18]
u Noore
" 3
a7 v
0 Joy
Wn 0001 P
$qn 02 nd
dxon bg N
Rl | %q
pasn jou Gy
pasn yau Uy 5°g90%p ns
W sosd LBl du
b SEETT e
OHESSII0B4 ™H u3
002 40 Q0L 00E bajs
3 wep MOTLISTNOY
uuy WP El=1-XpO/ITY
® OB Al Adp/YDNqL s/ Fu0Y
'3 Jndp ~/1300%X3/0VEP/ 8 1)
T up ELI0D uas(os
008" 00E Lol 5002 EZ Unp  aiup
A9 ‘030 EREL,
qIP}E  [dxa

1AY7S00 H1 QuvONviS



S27

09°Tra’1
sEC2 op°1 RO0O°T
— < .I

wdd 0- 2 v 9 e o1 21 LA 91

— . < i ST . | W T T S —— 1 I " S S SN —tid bl i 4

———— ﬂ « —_ 4 — — —_—

pALL)
A
dxom
EFED
H Hive ud  op3 e
9£559 u) poe1 sut
1 Jo.d ¢ w
1IN T7EESE a4
| INISE3I00¥d T 6E9% Lid
u EQUOY  ISTEE e
' (] €33Jp 000V wuzy
gbasp 052 an
0oz 3 0 as
2 g 151 an
“ W 078565 dn
0 €300 079001~ ds
1 Eantdp Avds1a
sUp uu L]
° Ebasp & d2
€210 u uy
u Zouoy u L)
L0 | 2saap SIS
zbasp  pasn o0 uped
00z i W EELTEY
2 cum 91 2
- 01 u
0 [2 L L1 103
1 Zandp @ 12
WP 2'e »d
L] zbagp a5 andy
2930 a1 =9
u ooy paIsn 300 aj
[ M | 53Jp 0°R6ES ME
basp  9£559 du
2000t Jap 7°E e
~ oy TN uy
o iz 11s baze
T R6NT o NOIL1ISINDOY
v arndlp dxs EINE]
1 up o E1200 UIALOT
vis'sel bajp 5002 0T AN nve
1A ¥ "3 EREL L
|ndzs  jexy

SHILINYYYd NOLO¥d OQMVONVIS



S28

u s £2°0 097t
CETRTL 09t

wdd 0- 2 v 9 g 0T 2T T 9T

un
o”in
dxonm
H 110m
' 3 yIvm yd aps  wu
9£559 uj pen°t su
L2 2048 ¢ uy
L1338 TTEESE dis
DNISS3I08d 2T gESL (¥ 2]
' u EOBIY S %
[} €3340 00" 00 w2y
gbasp  0§2 n
oez gup 0 2%
2 Ewap  TET "
u EUP @7 RL6E by
0 £JOP 175001~ ds
1 £4ndp AWs1o
gUp  uu b
0 gbiyp £ cp
£330 u be)
u 20604 U T
0 2832p S04
zbasp pasn jou uiwb
oee ZJup u LR
2 cwap 91 E
u up 91 u
0 2401 TTQew1 o
T 2andp 0 113
P zE nd
0 zbasp 35 AmEY
zZ03 9t kL
u cway pIsn jou al
[} 5340 2T QLeC ns
bagp  9e56% &
000el up 28 v
” wp [ uy
s uit G¥LC66Y Bajs
1 60t on NOILISINODY
pE andp  dxa M
ED U ELDQD uaaLos
\N\ r\(. pesTsT biip  S00Z DI ACn #1op
rO 1A 7 "D30 11dKYS
indzs  [dxe

SHILINVYUE NOLOHS DYWINULS



S29

wdd

T- -

B ]

—

2

9

6 0T 14 2T
yd 203 W
geo"t Uy
0z n
LT IR12 LI 7]
E"mda2 L3
00" o0t 51
EQ°®T wazy
134 an
[ a3
151 SA
Ep0se dn
[ 38 1 d3
AYNSIO
A dp
u u)
u Ll
SoY4
posn o uyel
' 20010
” ”
A 9T w
e o Joy
dxen 000"t 13
J13m D¢ »d
bs Andy
pasn ou uj gl 59
i %04 pasm jou a4
hULER I | 2 "3
DMIS5300¥d LesLT du
oez JUp SEETT w
3 wpn TN vy
s up - poltoot biys
0 0p NOILISINODY
13 ardp  dua s
H up - E120D A0
001 005 biJp G092 2 Juw  Iop
1A 9 "0 ERCLL
HEpys  sdxe

S5 @ IT uvelly ukly



S30

-

"

S S
j

s
N
axsn
J13m

pIsm J0u uy
1 20.d
LIAF R L]

INISEI0YI
o0z Jup
> wan
[T up
[] jop
[13 andn
H up
0L 00T bayp

1A % "230

T ras
yd 23 W
000" 6 buy
0z uy
£T1812 3.
T 6682 Ly
00005 a4
E0"R1 wazy
0s2 n
[ ] 23
151 SA
£790%p dn
- ds
AVIJEIO
A dp
u u|
v L
LLAF]
pesn jou ujod
u NoLv
0 It
9t v
0 o
0eo-T e
0°¢ ~d
v drdy
ot 5q
pasn Jou Q)
S’ 905w As
pakal du
S66°1 w
i "
b0t 00C bays
HO1L151nhor
dxa LI
£1202 1udA |02
S002 £z a3 g
ERRTTS

Nips  soxa
SHZ7 I] Upuyy uwhg



S31

va eo°o oo s0°s

to'o §1°E 00 N 001
AN o ‘. - . - B
wdd T 4 ¢ 4 S
- i : ] A | I
— -3 — v AIqulf_.\ v v Y T '
"
(
| |
d
— ~
o n
- -~
- ~
- e
an
~n
[
L
o _J.
.‘“4
S
g 3vd
w
un
qn
dxan
PRL LY
Pasn jau uj
3 J04d
o LIS FRL]
i DNISSI208d
® 0oz Jup  ggg°1 W
e - wp gy uy
uuy up o Q0T 008 buys
(] Jjop NOLLISTNCOY
0E Jndp  dxa L3
™H up EL2QD iAoz
oot '0oE busn S002 zz tnp  eyep
1N ® '230 QP
MI HEpIs  tdxo

3M¥IS00 HI QuvaNuss
~



S32

! The synthesis of 1, 2, 3 and L were performed according to a combination of the following
procedures. (a) Graf, I. G.; Jastreiter, D.; da Silva, L. E.; Rebelo, R. A.; Montalban, A. G.;
McKillop, A. Tetrahedron 2002, 58, 9095. (b) Schmittel, M.; Ammon, H. Eur. J. Org. Chem.
1998, 785. (c) Snyder, H. R.; Freier, H. E. J. Am. Chem. Soc. 1946, 68, 1320. d) Wehman, P.;
Kaasjager, de Lange, W. G.; Jartl, F.; Kamer, P. C. J.; van Leeuwen, P. W. N. M.
Organometallics 1995, 14, 3751. (e) Zacharias, D. E.; Case, F. H. J. Am. Chem. Soc. 1962, 27,
3878-3882

> Molock, F. F. J. Heterocyclic Chemistry 1983, 20, 681.

3 Sezen, B.; Sames, D. J. Am. Chem. Soc. 2003, 125, 5274-5275.

4 Wang, L.; Chen, Z. C. J. Chem. Res. Synop. 2000, 8, 367-369.

> Khan; Polya. J. Chem. Soc. C 1970, 85-88.

® Artico, M.; Silvestri, R.; Stefancich, G.; Avigliano, L.; Di Giulio, A. Eur. J. Med. Chem. Chim.
Ther. 1992, 27, 219-228.

7 Wang, Li; Chen, Zhen-Chu. J. Chem. Res. Synop. 2000, &, 367 - 369.

® Du Pont de Nemours, E. I., and Co. “1-(Alkyl-Substituted Phenyl)Imidazoles Useful in ACTH
Reserve Assay.” US 3637731. 1972.

’ Du Pont de Nemours, E. 1., and Co. “1-Substituted Imidazoles Useful in ACTH
[Adrenocorticotrophin] Reserve Assay.” US 3541109. 1970.

10 Perry, M. C.; Cui, X.; Powell, M. T.; Hou, D. R.; Reibenspies, J. H.; Burgess, K. J Am.
Chem. Soc. 2003, 125, 113-123.

" Tashiro, M.; Itoh, T.; Fukata, G. Synthesis 1982, 217-219.

12 Paul, R.; Hallett, W. A.; Hanifin, J. W.; Reich, M. F.; Johnson, B. D. J. Med. Chem. 1993, 36,
2716-2725.

B Liu, J.; Chen, J.; Zhao, J.; Zhao, Y.; Li, L. Zhang, H. Synthesis 2003, 2661-2666.

14 Pozharskii et al. Chem. Heterocycl. Compd. 1970. 6, 194-197.

' Sezen, B.; Sames, D. J. Am. Chem. Soc. 2003, 125, 10580-10585.

16 Collman, J. P.; Zhong, M.; Zeng, L.; Costanzo, S. J. Org. Chem. 2001. 66, 1528-1531.



